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The answers table:

Questions Answers Points Score
1 A B C D 1
2 A B C D 1
3 A B C D 1
4 A B C D 1
5 A B C D 1
6 A B C D 1
7 A B C D 1
8 A B C D 1
9 A B C D 1
10 A B C D 1
11 A B C D 1
12 A B C D 1
13 A B C D 1
14 A B C D 1
15 A B C D 1
16 A B C D 1

Total 16
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1. ∫
lnx dx =

A. x lnx− x+ C

B. lnx− x+ C

C. 1
x

+ C

D. x lnx+ C

2.
1∫

0

sin−1 x dx =

A. 1

B. 1− π

2

C.
π

2
− 1

D.
π

2

3. ∫
x2

3
ln (x3) dx =

A.
x3

3
lnx− x3

9
+ C

B.
x3

3
lnx− x2

3
+ C

C.
x3

3
lnx+

x3

3
+ C

D.
x3

3
lnx− x6

9
+ C

4. ∫
xex dx =

A. xex + ex + C

B. xex

C. −xex + ex + C

D. (x− 1)ex + C

c©Dr. Hamed Al-Sulami



Department of Mathematics
Quiz Three

December 1, 2007

5. ∫
x3 sinx dx =

A. −x3 cosx+ 3x2 cosx+ 6x cosx− 6 cosx+ C

B. −x3 sinx+ 3x2 cosx+ 6x sinx− 6 cosx+ C

C. x3 cosx− 3x2 sinx− 6x cosx+ 6 sinx+ C

D. −x3 cosx+ 3x2 sinx+ 6x cosx− 6 sinx+ C

6. ∫
ex cosx dx =

A.
ex(sinx− cosx)

2
+ C

B.
ex(cosx− sinx)

2
+ C

C.
ex(sinx+ cosx)

2
+ C

D. ex sinx+ ex cosx+ C

7. ∫
x3 cos (x2) dx =

A.
x2

2
cos (x2)− 1

2
sin (x2) + C

B.
x2

2
cos (x2) +

1

2
sin (x2) + C

C.
x2

2
sin (x2) +

1

2
cos (x2) + C

D.
x2

2
sin (x2)− 1

2
cos (x2) + C

8. ∫
x(lnx)2 dx =

A. 1
2
x2(lnx)2 − 1

2
x2 lnx+ 1

4
x2 + C

B. 2x lnx− 2x+ C

C. 1
2
x2(lnx)2 + 1

2
x2 lnx− 1

4
x2 + C

D. x2 lnx− x2 + C
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9. ∫
e
√

2x+1 dx =

A. (
√

2x+ 1− 1)e
√

2x+1 + C

B. (
√

2x)e
√

2x+1 + C

C. (
√

2x+ 1 + 1)e
√

2x+1 + C

D.
√

2x+ 1e
√

2x+1 + C

10.
1∫

0

x
√

1− x dx =

A.
4

15
B. 1

C.
2

15
D. 0

11. ∫
x sec2 x dx =

A. x tanx− ln | secx|+ C

B. x tanx+ C

C. x tanx+ ln | secx|+ C

D. x secx tanx+ C

12. ∫
x secx tanx dx =

A. x secx+ secx tanx+ C

B. x secx tanx− ln | secx− tanx|+ C

C. x secx tanx+ ln | secx− tanx|+ C

D. x secx tanx− ln | secx+ tanx|+ C
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13.
4∫

2

sec−1 (
√
x) dx =

A.
5π

6
−
√

3 + 1

B.
5π

6
+
√

3− 1

C.
π

3
− π

4

D.
√

3− 1

14. ∫
lnx

x2
dx =

A. −1 + ln x

x
+ C

B.
1 + ln x

x
+ C

C.
1− lnx

x
+ C

D. −1− lnx

x
+ C

15. ∫
xnex dx =

A. xnex + n
∫
xn−1ex dx

B. xnex − n
∫
xn−2ex dx

C. xnex − n
∫
xn−1ex dx

D. xnex −
∫
xn−1ex dx

16. ∫
xn sinx dx =

A. xn cosx− n
∫
xn−1 cosx dx

B. −xn cosx− n
∫
xn−1 cosx dx

C. −xn cosx+ n
∫
xn−1 cosx dx

D. −xn sinx+ n
∫
xn−1 cosx dx
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